[ Efficie

ncy vs vertpos |

~ 0.5

"
T
r

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original

Efficiend _,__ pom 7T mkFit-DOM_original_newwindows

—e— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated

~ 0.5
20.45
o
> 04
>
2
50.35
0.3
0.25]
0.2
0.15
0.1
0.05
.0

effic

Ratio
N

9830 20 30

TP vert z (cm)

[Efficie

ncy vs.sim PV z |

~N 0.5
>
B.0.45
1S
175} 0.4
20.35

&
c 0.3
2
Q

.................................................

...........

e

........................................

D
T T TTTT

0.952

=
T
4
+

+

0 =15 =10 -5 0

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


